KBagpaTHbIn kopeHb. ApudmeTnyeckuin kBagpaTHbIn kopeHb. Anrebpa, 8 knacc

BapwuaHT 1

3apadue 1
Bbluncnu.

a)\Ved =
6) —Vv2500 =

B) /0,09 =

3apaHue 2
Hangu 3Ha4yeHns BblpaKeHUN.

a)\V52 +29 =

12
6) —= - /0,09 =
NG —

B) /0,16 + /1,21 =
1 /0,64 — %\/18— =

3apaHue 3
Hangu 3Ha4yeHns BblpaKeHUN.

a)Va-—b, npua =4500, b = -1900
OtBeT:
6)x + \/—x,npux =-1,44

OTBeT:
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BapuaHT 2

3apadue 1
Bbluncnu.

a) V81 =
6) V3600 =

B) /0,16 =

r) %—
25 ——

3apaHue 2
Hangu 3Ha4YeHns BbIpaXKeHUN.

a)V36 +15 =

6)%—\/0,64 =

B)1/0,49 +/1,44 =
r)\/0,04—%\/14 +22 =

3apaHue 3
Hangu 3Ha4eHns BblpaXKeHUN.

a)Va+b, npna =7400, b = -5800
Ortger:
6) \/x —x, npu x = 1,69

OTBerT:
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OTBeTbI

BapuaHT 1

3apaHue 1
a)8

6) — 50

B) 0,3

r) % unm 3,5

3apaHue 2
a)9

6) 2,2

B) 1,5
r)—0,2

3apaHue 3
a) 80
6) —0,24

BapuaHT 2

3apaHue 1
a)9

6) 60

B) 0,4

r)g nnm 1,6

3apaHue 2
a)7

6) 5,2

B) 1,9
r)-2,8

3apaHue 3
a) 40
6) —0,39
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